Includes:

Nk W=

Installation:
1.
2.
3.

2011 Commander Winch Mounting Plate
Fits: 800cc and 1000cc Commander
P/N: EMP-10908
Accepts major brand winches up to 4000 1bs.

(1) Winch Plate

(2) 3/8-16 x 1” Flange Bolts (for Fairlead)
(2) 5/6x1” Hex Bolt (grade 5)

(2) 5/16x2-1/2” Hex Bolt (grade 5)

(4) 5/16 Nylon Nut S
(10) 5/16 Flat Washers OFF-ROAD ACCESSORIES ClQ
(2) 3/4” 0.D. x 5/16” ID x 1.125” Spacer (10286) Sy

Set your parking brake.

Remove the black plastic shroud.

Install the plate using the 17 bolts in the front (see
pic 3). Put a washer on the bottom side where the
nut goes.

Use the 2-1/2” bolts, spacers, washers and remain-
ing nuts to bolt the rear of the plate to your frame.
The bolts will go through both sides of the channel.
You will put the spacer and (2) washers on the in-
side of each channel.

Tighten all the bolts.

Install your winch using the bolts that came with
your winch. You can do this first if you want to.
Re-install the plastic shroud.

Now, you can mount your fairlead bracket to the
winch plate using the 3/8” bolts. Note: the plastic - ; :
cowling will go between the winch plate and the g T YR
fairlead bracket. On smaller winches you will have
to drill out the holes in the cowling.

WWW.EXTREMEMETALPRODUGTS.COM | s
OFF-ROAD ACCESSORIES
Cleveland, Chio



